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Goal - L will be able +o divide
3- and 4-digit dividends by |-and 2-divisors
+ find a gudthient in 3 methods.

tXxpectations
HKnow tacts X and= 0-9

@ Use each stepstv success
@ Muyst Write in proper place value




Uth gv. Review

@ d'l\/‘dClr\d = d{V[SDr = QUO'Heﬁl'

5 : 9 =5
stien+t e Pead *
®div‘w§ gfv(clt'hd 9)459 '-lgeqad vicled by
clivided Ais &\
by (read bhaclkwarrds)

® dividend =Quohient
divisor _ -tl_s_.e-d\\nbkd = S
EVvewy Hrachion (s o cwvisoh Q
Problem.



This is +he WIKDONG Ly +o
Wv it o division problem’
Never t\ev, EVER.

— ﬂ wWrite a divisten
' A Problemto Solve like
Hhis /




“St;ps to Success- Star_laart_l-Algnrith;;'l Division
1. DIVDE
e Think: Use COMPATIBLE Numbers- what number multiplied

—— ———————
by the divisor (side number) will get me close to the dividend 5
(inside/bottom number)? 2

e Write the answer to this question ABOVE the dividend

2. MULTIPLY

CEE—— O
e Think: When | multiply the number | just wrote above times ' 2
the divisor (side number), what does that equal:
e Write the answer to this question BELOW the dividend 2 \-/

3. SUBTRACT.
2

e Subtract the two numbers below

4. BRING DOWN ¥
" (cha.nmin the dividend O —

5. REPEAT
e Steps 1-4 with the new number created below the dividend

6. REMAINDER
i e \Write above next to guntient

25, 50.15, ’00,
IS0 3

7. CHECK Z 7
e |s my quotient in place value above dividend? x
i e Does my answer make sense (remainder less than divisor)? @

e Multiply quotient by divisor and add remainder to product —-7'§"'§







O b btcavse 12x?2 £,
MVUst held quotient:

Placc valye Wik
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